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HR3—2 BEWICERT HLBESNHEHECET HERA/1) ) ) REEE | Pory
SERBOME | EMES | 16351012 Eea -1 FALHs | A0 ik X 7 1 /7]
] SMER O TimICHET 51 SERIMA
ﬁg TREOBEBOTILEHOKRES TERFEOHBEILNOKRES TEFEOBRBDOEILHDOKRES TREOHBSSLADKRES
7 100kN/mM%E#8Z % — - ~ — —|3mZEBABD| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3m%E#BZ B - ~ — — —
st 1.00 | 0.00 ~ 4.54 54.21 | FnRS | 000 ~ 4.34 | 1.98 9.95 ThLst 1.00 | 5.00 ~ 5.00 54.21 | =hH | 5.00 ~ 6.00| 1.98 9.985
2 100kN/mM%E#BZ 5 — - ~ — —|3mEBZBH| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3mZE#BZD - ~ — — —
ZhLst 1.00 | 000 ~ 643 80.91 | =ns | 0.00 ~ 643 1.86 9.40 FnLsn 1.00 | 5.00 ~ 7.80 80.91 | #hlst | 5,00 ~ 7.80| 1.86 9.40
3 100kN/m##82% | 1.00 ]| 0.00 ~ 0.34 104.95 |3mZEBAD| — ~ — — — | 100kN/m%E#Bz5 | 1.00 | 11.12 ~ 1220 104.95 |3mZEHBZ5 - ~ — — —
st 1.00 | 034 ~ 812 100.00 | #nLst | 000 ~ 812\ 2.03 10.28 ThList 1.00 | 6.00 ~ 1112 100.00 | =nst | 6,00 ~ 1220| 2.03 10.28
4 100kN/m%E#8z5 | 1.00 | 000 ~ 097 114.63 |3mZz#z3| — ~ — — — | 100kN/ %825 | 1.00 | 1066 ~ 1380| 114.63 |3m&E#BZ% - ~ — — —
st 1.00 | 097 ~ 876 100.00 | #nst | 000 ~ 876 | 2.11 10.67 ThLst 1.00 | 6.00 ~ 10.66 100.00 | =nhst | 6.00 ~ 1380 211 10.67
5 100kN/m%x#8z% | 1.00 | 000 ~ 062 10917 |3mZz#Ez3| — ~ — — — | 100kN/ %8825 | 1.00 | 1057 ~ 1230 109.17 |3m&E#BZ% - ~ — — —
st 1.00 | 0.62 ~ 840 100.00 | =nLst | 0.00 ~ 840 | 2.24 11.30 ThList 1.00 | 6.00 ~ 1057 100.00 | =nst | 6.00 ~ 1230 2.24 11.30
P 100kN/m%z#8z5 | 1.00 | 000 ~ 062 10918 |3mZz#z3| — ~ — — — | 100kN/mM%&#82% | 1.00 | 1057 ~ 1230| 10918 |3m&E#BZ% - ~ — — —
zhLst 1.001062 ~ 840 100.00| FhLs | 000 ~ 840\ 2.24 11.50 FnLsn 1.00 ] 6.00 ~ 1057 100.00| FhLst | 6,00 ~ 1230 2.24 11.30
7 100kN/m%E#8z5 | 1.00 | 000 ~ 027 104.04 |3mZE#EZ3B| — ~ — — — | 100kN/ %825 | 1.00 | 11.46 ~ 1240| 104.04 |3m%E#BZ% - ~ — — —
ThLlst 1.00 027 ~ 806\ 100.00| FhLs | 000 ~ 806 | 2.00 10.12 TnList 100 5600 ~ 1146 100.00 | ThLS | 5,00 ~ 1240 2.00 10.12
P 100kN/MZ#8 2 % — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m#%FEZ 5 - ~ — — —
ThnLst 1.00 | 0.00 ~ 5.62 70.25 | EnLS | 000 ~ 562|223 11.28 FhLst 1.00 | 6.00 ~ 940 70.25 | EnRSY | 6.00 ~ 940\ 2.23 11.28
9 100kN/mM%EZ 5 — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8% % — - ~ — — |3m#%FHBZ 5 - ~ — — —
st 1.00 | 0.00 ~ 7.08 89.92 | #nst | 0.00 ~ 0.00) 1.65 8.36 FhLst 1.00 | 6.00 ~ 920 89.92 | #nLst | 5,00 ~ 9.20| 1.65 836
10 100kN/ Mm% 25 — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m%EHEZ 5 - ~ — — —
st 1.00 | 0.00 ~ 7.08 89.93 | =nLs | 0.00 ~ 0.00) 1.65 8.36 FhLst 1.00 | 6.00 ~ 920 89.93 | #nLst | 5,00 ~ 9.20| 1.65 836
11 100kN/ Mm% Z 5 — - ~ — — |3mEBZRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m#%FHEZ 5 - ~ — — —
st 1.00 | 0.00 ~ 6.19 77.68 | TN 000 ~ 619|201 10.14 FhLst 1.00 | 6.00 ~ 820 77.68 | NS | 6.00 ~ 820 201 10.14
19 100kN/MZ#8Z % — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#8 %% — - ~ — — |3m#%EEZ 5 - ~ — — —
Thsn — -~ = — | =hest -~ = — — ZzhLst — — ~ — — | #hst - ~ — — —
13 100kN/ Mm% Z 5 — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8 %% — el — — |3m#%FHEZ 5 - ~ — — —
Thsn — -~ = — | =hust -~ = — — ZzhLst — — ~ — — | #hust - ~ — — —
14 100kN/ Mm% A5 — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m%FHEZ 5 - ~ — — —
zhsn — -~ = — | =hst -~ = — — ZzhLst — — ~ — — | #hst - ~ — — —
100kN/ Mm% Z 5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZnLst ~ ZhLst ~ Zzhust ~




